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SECTION I – LANGUAGE COMPREHENSION (15 x 1 = 15 points)
Which of the following sentences best expresses the meaning in the given sentence?

1. [image: F:\to transfer\lego1.jpg]The LEGO Company, which was once a one-room workshop but is now a global corporation, has remained a company operated by a single family.
A) LEGO was directed by only one family until it was transformed from an old-fashioned one-room shop to a modern international business.
B) Just one family has always been in charge of LEGO, and this international company still produces its products in its original work place.
C) Despite evolving from a small workshop to a worldwide company, LEGO is still a family-run company.
D) Having begun as a small family business, LEGO has succeeded in expanding to cover the whole globe.

2. I wish I could use my phone to watch the end of a match when I leave home during a match.
A) I cannot imagine having a phone that could show the end of a match when I am no longer at home. 
B) Unfortunately, my phone is not able to show a match, so if I go out before a match ends, I miss the finish.
C) Being able to watch the rest of a match on my phone has enabled me to view games I would have missed.
D) If I had been able to see the end of the match on my phone after going out, I could tell you how the match ended.

3. Open-source software continues to be one of the fast-growing fields in the information technology (IT) sector.
A) Today’s fast-growing IT sector even includes the open-source software industry. 
B) Open-source software could become as profitable as other areas in the IT field.
C) Open-source software is one part of the IT field that has been expanding rapidly.
D) The faster the field of open-source software grows, the more quickly the IT industry will develop.

4. Computer software engineering is an excellent field to get into because the critical role of computers in our lives means that there will continue to be a need to develop software.
A) Better software has made computers much more convenient to use, so computer software engineering is a more desirable profession than it used to be.
B) There is an ongoing need for new software since computers perform tasks which are crucial for society, so computer software engineering is a great career choice.
C) Though there are many jobs available in the vital field of computer software engineering, the great responsibility that these positions carry may be too demanding for some people.
D) While it is necessary to devote yourself to computer software engineering for many years to be effective at your job, the rise in the use of computers makes this a worthwhile sector to enter. 

5. Almost all of the deaths of children under age five could be prevented if children had access to inexpensive vaccines, clean water and basic sanitation.
A) The inability to obtain safe water, basic sanitation and low-cost vaccines leads to the large majority of deaths in children under age five. 
B) Lots of children died before they reached age five because they lacked basic necessities like cheap vaccines, drinkable water and basic sanitation.
C) If children had been provided with affordable vaccines, clean water and basic sanitation, nearly all deaths of children younger than five would have been avoided.
D) If better vaccines are discovered and more research is done on the quality of drinking water and sanitation, there will be very few deaths of children below the age of five.  


6. Every day malaria results in the death of around 3,000 people, three-quarters of whom are children.
A) Three out of four of the nearly 3000 children who die every day have had malaria.  
B) Three-fourths of the approximately 3000 people who die of malaria each day are children.
C) The roughly 3000 deaths caused by malaria each day impact three-fourths of children. 
D) It is malaria that daily kills about 3000 people, three out of four of whom had the disease as children.

7. The number of serious traffic accidents rises as vehicle ownership increases in developing countries.
A) A greater number of automobiles on the road always causes more serious traffic accidents, particularly in developing countries.
B) The more people who own vehicles in developing countries, the higher the number of serious traffic accidents.  
C) There will soon be as many serious car accidents in developing countries as there are in developed ones since more people are purchasing cars.
D) Greater wealth always leads to a higher rate of serious traffic accidents in developing countries because people buy poor quality cars which are dangerous in accidents. 

8. A country that invests in its healthcare sector not only increases its citizens’ quality of life but also enhances its economic growth.
A) Either a more comfortable life or better economic conditions may result from a strong healthcare industry.
B) High healthcare costs are difficult for a government to meet and have a negative impact on the economy, but better healthcare improves people’s lives. 
C) Good health is extremely important to people, so a government needs to develop good health services even if it has an impact on the economy.
D) A government can make its citizens’ quality of life higher as well as boost its economy by spending more money on healthcare.  

9. [image: F:\to transfer\flagsmall_bw.GIF]The five Olympic rings symbolize the five major regions of the world, and every national flag includes at least one of the five colors.
A) In addition to each of the five major sections of the world, the colors of the flag of every country have to be included on the Olympic flag.   
B) Each one of the five Olympic rings represents one of the main areas of the world, and one or more of the five colors are found on each country’s flag.
C) The five rings on the Olympic flag mean the world should be divided into five areas, and the five colors on it suggest colors every flag ought to include. 
D) Five of the major regions of the world are represented by the five Olympic rings, and the five colors show the colors frequently found on the flags of every county.

10. Women were first allowed to participate in the Olympic Games in 1900, the second time the modern Games took place.
A) Having forbidden their participation in the first modern Olympics, organizers examined the role of women during the 1900 Games. 
B) Women’s participation in the 1900 Olympics, the second modern Games, was nearly as limited as it was in the previous games.
C) Though banned from competing in the first modern Olympics, women were permitted to compete in the second Games in 1900.  
D) The restrictions on women taking part in the Olympics were ignored in the 1900s Olympics, which was the second time this happened.


11. The last Olympic gold medals that were made entirely out of gold were awarded in 1912.
A) Olympic athletes received medals made of 100% gold only during the 1912 Olympics.
B) There was hardly any gold in the Olympic gold medals that were given out up until the 1912 Games.
C) It was not until the 1912 Olympics and following that the gold medals athletes received were real gold.
D) The practice of giving out medals that were completely gold was not maintained after the 1912 Olympics.

12. In ancient Greece, all city-states were required to stop their battles in order to allow athletes and spectators to safely travel to the Olympic Games and back to their homes. 
A) Fighting between city-states was prohibited around the time of the Olympics in ancient Greece, giving competitors and spectators the chance to travel safely to and from the Games.
B) Whether or not fighting between city-states took place, both participants and spectators could manage to get to the Olympic Games and then back to their homes in ancient Greece.
C) That wars between city-states were forbidden at the time of the Olympic Games in ancient Greece was insufficient to provide secure travel for either the competitors or the spectators.
D) Ancient Greek city-states were advised to end their wars so that both participants and spectators had the opportunity to go to and return from the Olympic Games in safety. 

13. Reliable studies have shown that it is almost equally difficult in all major modern societies to change from one social class to another.
A) Carefully researched studies give evidence that it is now much harder to change your social position than it once was in every modern society.
B) There is strong evidence showing that moving up or down in social class is not significantly easier in one major society of today than in any of the others.
C) Every large modern society has very strict social rules that must be followed closely for anyone who desires to change their social class according to well-supported studies.
D) Social classes are said to have been abolished in every modern society, but research shows that it is actually nearly impossible to change your social status in any of these societies.

14. Early in his life, Gandhi did not oppose violence in all situations, preferring using violence to acting like a coward.
A) When Gandhi was young, he thought using violence was better than avoiding it due to fear.
B) At first, Gandhi believed that it was better to make use of violence than to fail to accomplish critical goals.
C) People are surprised to learn that at one time Gandhi permitted brave people to use violence at certain times.
D) In fact, Gandhi was afraid that some people would not accept nonviolence, so at the beginning of his career he did not always reject violence.

15. When Gandhi initiated a campaign for Indian independence from the British Empire, he supported only nonviolent means of resistance.
A) Having begun a mission to get rid of British rule in India, Gandhi came to realize that nonviolence was the best way to reach his goal.
B) Gandhi felt that nonviolent actions were one effective method to overcome the British Empire and gain independence for India. 
C) While he was trying to gain independence for India from the British, Gandhi changed his views and began demanding only nonviolent opposition.
D) Gandhi approved of nonviolent methods of protests and no others at the time that he began India’s movement to become independent of Great Britain.
A) 

SECTION II – READING COMPREHENSION (30 x 1.5 = 45 points)
Read each text and choose the best alternative that answers each question.

[image: http://www.popsci.com/sites/popsci.com/files/styles/image_full/public/images/2013/11/ara-project-modula-phone.png?itok=RvHsyVeJ] Text 1 			Modular Phones
I		Motorola has recently announced Project Ara, a development initiative aimed at creating modular smartphones that snap together as easily as LEGO pieces. Users will mix and match the modules they want—screens, batteries, cameras, keyboards—and connect them to a standardized phone skeleton. All types of manufacturers, both big and small, will have a chance to design and produce their own modules before Ara makes it into consumers’ hands. Motorola says current technology makes producing phones in this way entirely possible. If the project is carried out, it could completely transform the way we buy phones. However, there is a problem: It could be disastrous for large-scale manufacturers. 

II		Ara’s open-source philosophy is that consumers get the best product by allowing universal access to a product’s architecture. This way of thinking is borrowed from software developers. Google, which now owns Motorola’s hardware division, built its Android operating system on an open-source software platform. Anyone who wants to create an app for an Android phone can code one right from their desktop. Tiny development teams can have the same success as large software companies. In the end, consumers are able to decide which apps they think are useful by choosing apps from both sides. 

III 	Many people believe open-source hardware is much trickier, however. Designing and building physical things like hardware comes with higher costs than software does, so it is nearly impossible for the small producer to develop hardware. That works out well for large companies, which have been able to keep everything tightly under their own control. Taking apart a phone and replacing a broken part is an extremely challenging task, and manufacturers make phones this way intentionally.

IV 	Yet the barriers to small-scale hardware production are breaking down. Manufacturing is becoming “democratized”, which means the technology and tools to produce things are available to everyone. This allows small companies to produce hardware, just as “democratized” programming made it possible for independent app developers to enter the software market. Small companies can design their ideas in CAD software, 3-D print their parts, assemble a prototype, adjust as necessary, and then go on to full production. There are even resources that help companies organize their own manufacturing. HAXLR8R, a startup business forum, for instance, helps entrepreneurs connect with factories in Shenzhen, China that are equipped to produce their products. 

V 	That would seem to point to a bright future for modular phone projects like Ara, but there are still a few harsh realities that must be overcome. The new system would be significantly different from how big companies currently market their phones. Manufacturers currently try to convince buyers that phones become obsolete quickly. Since they want buyers to purchase a new phone every two years, they encourage them to get rid of a well-functioning two-year-old phone just because it is not as good as the latest model. However, what would happen if they could just buy a new camera, a longer-life battery or a sharper screen instead of a whole new Galaxy S model? If that were possible, consumers would win, but manufacturers could lose. Unless the big manufacturers are willing to take a significant risk and enable consumers to have more options, we may never have the opportunity to use open-source hardware in the same way we use open-source software. 



16. Which of the following statements about modular phones is TRUE according to paragraph I?
A) They will be produced by the same company that manufactures LEGO products.
B) The first modular phones will primarily be designed by consumers. 
C) Manufacturers already have the ability to make different phone parts that fit together. 
D) The phones will work better if you purchase all the modules from one manufacturer.

17. The phrase both sides in paragraph II refers to ----.
A) Ara’s philosophy and Google’s philosophy
B) the Android operating system and other operating systems
C) tiny software development teams and the software development teams of large companies 
D) consumers and manufacturers

18. In paragraph III, the author says, “Taking apart a phone and replacing a broken part is an extremely challenging task” to point out ----.
A) how poorly phones have been designed
B) how much big producers have kept control 
C) the lack of skills of many small producers
D) a reason to buy a phone from a large producer rather than a small one

19. According to paragraph IV, the author says all of the following are helpful to small hardware-producing companies EXCEPT ----.
A) support from independent app developers
B) CAD software
C) 3-D printing
D) resources like HAXLR8R

20. The word obsolete in paragraph V is closest in meaning to -----.
A) outdated
B) higher priced
C) damaged
D) convenient

21. As we can understand from paragraph V, the author ----.
A) wishes the Galaxy S series had been designed with better features 
B) wishes consumers would pay closer attention to the latest advances in technology
C) hopes that large manufacturers are replaced by smaller companies
D) feels that large manufacturers should give as many choices as possible to consumers 



Text 2 		   	Florence Nightingale: Nurse and Statistician 
I		Florence Nightingale arrived at a British military hospital in “Scutari” (Üsküdar), Istanbul in November 1854 during the Crimean War. There she found men who lay crowded next to each other in endless corridors, air which stank from the human waste that lay just under the hospital floor, little food, and few basic supplies. Patients were dying at double the rate that patients died at British civilian hospitals. But she started working with the Sanitary Commission in March 1855. By the time Nightingale left Turkey after the war ended in July 1856, the hospital was better supplied, well-run and efficient, with death rates no greater than civilian hospitals in England. Her later and less well-known work, however, saved far more lives. She brought about fundamental change in the British military medical system, preventing future disasters. To do it, she pioneered a new method for bringing about social change: applied statistics.

II		When Nightingale returned to Britain after the war, she had a strong sense of failure, even though she appreciated the public support for her. Despite her efforts, thousands of men had died needlessly during the war from illnesses they had acquired in the hospital. “Oh, my poor men who went through so much,” she wrote to a friend, “I feel I have been such a bad mother to them. I came home but left them lying in their graves. 73% of eight regiments died from disease alone in just a six-month period.” She worried that without widespread changes in Army procedures, a similar calamity could occur again, so she began to campaign for reform. She persuaded Queen Victoria to appoint a Royal Commission on the Army’s medical department, and she herself wrote an 830-page report. Her stories, she decided, weren’t enough. She thought William Farr, who had recently invented the field of medical statistics, could help her identify the reasons for the many deaths. He advised her, “You do not want impressions; you must have facts.”

III		Under Farr’s direction, Nightingale created tables of statistics of how many people had died, where and why. Her findings shocked her. For example, she discovered that in peacetime, soldiers in England died at twice the rate of civilians despite being strong young men. The problem with the military health service, she realized, extended far beyond a few terrible hospitals during wars. Furthermore, the statistics changed Nightingale’s understanding of the problems in Istanbul. Lack of sanitation, or hygiene, had been the principal reason for most deaths, not inadequate food and supplies as she had previously thought. Deaths from disease began to fall only in March 1855, after the Sanitary Commission arrived in Turkey. They did what she could not do alone: They moved the human waste far from the hospital, removed dead animals from the drinking water supply, and improved air flow in the hospitals. Almost immediately, the death rate dropped from 52% to 20%.
[image: F:\to transfer\wedges.jpg]
IV		As impressive as her statistics were, Nightingale worried that Queen Victoria would get bored by all her facts and not do anything about cleaning up hospitals, so she devised clever ways to present them. Statistics had been presented using graphics only a few times previously, and perhaps never to coax people to make social changes. In doing so, she ignored the advice of her mentor, Farr. “You complain that your report is too dry, too boring,” he wrote to her. “The drier it is, the better. Statistics should be the driest of all reading.” Nightingale’s best-known graphic is one of the first examples of the now familiar pie graph, showing the number of deaths each month and their causes.

V		Her report had a great influence, leading to systematic changes in the design and practices of military hospitals. By the end of the century, Army death rates had become lower than civilian ones. Furthermore, statistics have become a powerful tool for reform. Powerful graphics like Nightingale’s have kept many more people than just Queen Victoria from getting bored. 

22. According to paragraph I, during her time in Istanbul, Florence Nightingale ----.
A) helped reduce the number of soldiers who were being injured while fighting in the Crimean War
B) reduced the death rate in a British military hospital in Istanbul to a level similar to civilian hospitals in Britain
C) saved many lives despite not ever receiving the supplies she requested
D) started to bring about social change through her work in applied statistics

23. In paragraph I, the author wants to show that ----.
A) the British military had little concern about whether its soldiers lived or died
B) Nightingale’s work in Istanbul was not as successful as many people think it was
C) it was actually the later part of Nightingale’s career that had the greatest effects
D) significant social change was not possible until applied statistics were developed
 
24. The word calamity in paragraph II could best be replaced by ----.
A) study 
B) battle
C) tragedy
D) encouragement

25. Which of the following statements is TRUE about Nightingale according to paragraph II?
A) She was disappointed by the public’s reaction to her work in Istanbul
B) She felt many regrets about the men she was unable to save while in Istanbul
C) She arranged an appointment with the Army’s medical department to discuss what reforms could be made 
D) She worked with William Farr to develop the field of medical statistics

26. According to paragraph III, as Nightingale did research, she came to understand that ----.
A) even when there were not any wars, soldiers were receiving poor health services
B) a few poorly run hospitals were the primary reasons so many soldiers were dying 
C) the soldier’s poor diet was a key factor in the large number of deaths in hospitals
D) despite the Sanitary Commission’s significant efforts, the death rate was not significantly reduced 

27. The word coax in paragraph IV is closest in meaning to ----.
A) benefit
B) deceive
C) order
D) persuade

28. According to paragraph IV, Nightingale disagreed with Farr about ----.
A) how accurate her statistics needed to be
B) whether or not her statistics were researched carefully enough 
C) whether or not her statistics should be presented to the queen 
D) how her statistics should be presented

29. In paragraph V, the author implies that ----.
A) Nightingale should have listened to Farr’s advice about how to use statistics
B) both military and civilian deaths were significantly reduced in Britain due to Nightingale’s work
C) statistics have been used effectively for social change since Nightingale’s report
D) statistics have been used to entertain instead of explaining information due to Nightingale’s report




Text 3					Green Olympics in Sochi?
[image: F:\to transfer\images.jpg]I		When Russia was awarded the 2014 winter Olympic Games by the International Olympic Committee (IOC) in 2007, Russia told IOC members it would follow green building standards. This was a huge challenge. Organizers built infrastructure to host athletes from 88 countries, the world’s media, and hundreds of thousands of spectators in an underdeveloped region that was home to a UNESCO World Heritage site and a national park. Sochi organizers made many promises, such as guaranteeing to work with environmental groups to review construction plans, to give regular reports which measured environmental effects, and to deliver the Games “in harmony with nature.”

II		Instead, Sochi organizers failed on every one of these, says Suren Gazaryan, a member of the environmental campaign group Environmental Watch of the North Caucasus (EWNC). He explained that construction for the Games greatly damaged the region. The ENWC has evidence of illegal waste dumping, of construction that has blocked the migration routes of animals such as the brown bear, of limited access to drinking water for locals, and of a generally decreased quality of life for Sochi residents. “The most important aspect of the damage is the loss of bio-diversity in the area,” says Gazaryan. “Parts of the national park have been completely destroyed. This area had the most diverse plant and animal life in Russia.” There is also the increased danger of landslides and building collapses as a result of poor construction, says Gazaryan. 

III		Simon Lewis, who runs Team Planet, a UK group that measures the effects of sports on the environment, says Sochi organizers who wanted to be environmentally conscious had their work cut out for them. Hosting a Winter Games is more challenging from an environmental perspective than hosting the Summer Games: “If you look at the environmental impact of hosting the Winter Games in a place like Sochi, including things like travel, construction and hospitality, doing that halfway up a mountain in a fragile environmental habitat is very hard,” he says. The IOC worked with the Sochi organizers to help decrease some effects of the construction, including relocating some sporting events further away from the UNESCO World Heritage Site. Despite this, says Lewis, “The Games should never have happened in that location. It was a poor decision by IOC members based on poor information.” Some IOC members have admitted this is true. Els Vriesman, a former IOC member who voted in 2007 for the Games to be in Russia, said that many members would not have chosen Sochi if they’d had more information about the construction process. 

IV		The IOC has pushed hard to make the environment a key part of the Olympics movement since the early 1990s. Its biggest accomplishment was the environmentally friendly Sydney Summer Olympics in 2000. Emmanuelle Moreau, head of media relations for the IOC, recently wrote that the IOC was aware of the complaints of environmentalists, he but supported Russia’s green efforts and said they need be considered and encouraged: “The Sochi 2014 Games are believed to be Russia’s first global sports event to have taken environmental concerns into consideration.” 

V		However, Gazaryan does not believe that environmental concerns were ever given a high priority, so he is cynical that environmental concerns will receive much attention now that the games have finished. He says that Russia hopes to make Sochi into a global ski destination after the Games, which will open up the sensitive national park region to increased tourist traffic. Because of this, he thinks it is unlikely that the area will ever recover. He also thinks the IOC, which once publicized the greenness of the Sochi Olympics, will avoid discussions about Sochi’s environment in the years to come.

30. In this article, the author mainly wants to show that ----.
A) huge events like the Olympics always result in significant harm to the environment
B) the environmental damage done around Sochi presents a serious risk to Sochi residents
C) the Sochi Olympics were not as environmentally friendly as organizers said they would be
D) Olympic organizers are increasing efforts to ensure that the Olympics are more environmentally friendly

31. According to paragraph I, when Russia was awarded the 2014 Games, they guaranteed they would do all the following things EXCEPT ----.
A) try to observe green building standards
B) regularly host media from many parts of the world
C) write periodic reports about how the environment was being affected
D) manage the Games without harming nature

32. The word these in paragraph II refers to ----.
A) promises
B) environmental groups
C) reports
D) environmental effects

33. Based on paragraph II, which of the following statements would Suren Gazaryan agree with?
A) The brown bear has become extinct because of unethical construction practices.
B) It is no longer safe to drink any of the water in the Sochi area.
C) The biggest cost of the construction process is fewer types of plants and animals around Sochi.
D) The increasing number of landslides has resulted in damaged property and serious injuries.

34. The phrase had their work cut out for them in paragraph III could best be replaced by -----.
A) faced a difficult task
B) trained athletes too hard
C) achieved more than expected
D) built extremely comfortable facilities 

35. From paragraph III, the reader can infer that ----.
A) the Sochi organizers never spoke with anyone who was on the IOC team
B) IOC members should have received more information about the construction plans for Sochi 
C) moving some sporting events further away from Sochi actually caused more environmental damage
D) Els Vriesman has no regrets about the decision the IOC made in spite of the damage to the environment 

36. In paragraph IV, why does Emmanuelle Moreau say, “The Sochi 2014 Games are believed to be the first global sports events in Russia to have taken environmental concerns into consideration”?
A) To contrast Russia’s efforts with the efforts of Australia in the 2000 Summer Olympics
B) To point out that Russia has a strong history of protecting the environment when preparing for sport events
C) To encourage environmentalists to further investigate the environmental damage the 2014 Olympics caused
D) To defend Russia’s efforts to minimize the effects of the Games on the environment

37. The word cynical in paragraph V could best be replaced by ----.
A) upset
B) doubtful
C) stressful
D) truthful

[image: Nonviolence sculpture]Text 4	       	    		Is Nonviolence Effective?
I		One of the great debates among social scientists has been whether nonviolence is effective, particularly at the level of large groups and nations. For hundreds of years, nearly everyone believed that nonviolence was a wonderful ideal but to achieve large-scale results, violence was necessary. Peaceful protests were thought to be the weapon of the weak, only to be used when violent options were out of reach. Supporters of nonviolence have responded by arguing against the theory that nonviolence is ineffective and by suggesting a long-term rather than a short-term definition of effectiveness.

II		Supporters of nonviolence point out that over the last century, there is increasing evidence that nonviolence is more effective than violence. Aldous Huxley made this argument as early as 1937 in his book Ends and Means. In the current century, a TV show created in the year 2000, Bringing Down a Dictator, tells the story of overthrowing Serbian dictator Slobodan Milosevic through a nonviolent campaign. More evidence for this theory comes from a 2011 study, in which 323 violent and nonviolent campaigns between 1900 and 2006 were examined. Researchers found that nonviolent campaigns were twice as likely to achieve success as violent campaigns were, and the higher rate of success was true even for campaigns against authoritarian regimes. The study concluded that nonviolent campaigns were more successful because the costs of participating in them were lower than for violent campaigns; for example, participants did not need to commit violent acts or host rebels. Because of this, participation was higher and from a broader range of people, leading to more diverse strategies. Researchers also concluded that people in power decided to change sides more often during nonviolent campaigns because they were less likely to receive harsh treatments by people who were organizing them. The conclusion of the study states that, “Nonviolent campaigns succeed against both weak and powerful opponents and are able to adapt under even the most desperate circumstances.”

III		Supporters of nonviolence have also challenged the short-term definition of effectiveness that many researchers have traditionally used. Instead of effectiveness, some social scientists advocate the use of the term “fruitfulness”, an agricultural word that stresses that positive results often take time. They argue that a person’s duty is not to be effective but to plant seeds. How those seeds may develop is largely outside of one’s control. A common illustration of fruitfulness is the story of Franz Jagerstatter, an Austrian farmer who was imprisoned and eventually executed for refusing to enter Hitler’s army during World War II. His efforts seemed completely ineffective; he lost his own life and did not save a single victim of the Nazis. His story would have been forgotten if Gordon Zahn, an American sociologist, had not discovered it while doing research for another book. Zahn later published a biography of Jagerstatter, entitled In Solitary Witness in 1964. The book became popular in the United States at about the time the Vietnam War started and encouraged many to refuse to fight in this controversial war. Thus, a nonviolent action which had failed to be effective at the time it was performed played a fruitful role in shaping a war two decades later.

IV	A few events manage to bring together both of these aspects. For example, a village in Vichy, France, sheltered hundreds of Jewish refugees despite the watchful eyes of the local police and later the Nazis. Thus, the village was effective in its fight against Nazism, saving hundreds of lives. Decades later, their story became known through the book Lest Innocent Blood Be Shed (1979). Their example inspired many people in the 1980s to shelter Central American refugees who were being forced back to their home countries (sometimes resulting in their deaths) by American president Ronald Reagan, and, as a result, their actions also became “fruitful”.

V		Thus, nonviolence has been shown to be more effective than violence even against authoritarian regimes. Perhaps even more importantly, it has the potential to be fruitful over the long term. Since sociologists have shown that these things are true, they now have a responsibility to research how nonviolent campaigns can be encouraged over violent ones.
38. In paragraph I, the author shows that ----.
A) [bookmark: _GoBack]people thought that violence was effective at a personal level but not against a government
B) people generally believed that violence was a more effective tool for change than nonviolence 
C) even weak people become violent when a situation seems hopeless 
D) there have been no clear arguments to help people understand why nonviolence is more effective 

39. Which of the following statements is TRUE according to paragraph II?
A) Aldous Huxley was one of the last sociologists to point out the benefits of using non-violence.
B) The success of nonviolent campaigns depended on whether governments were violent or not.
C) Nonviolent campaigns are more effective when one leader clearly communicates the campaign’s goals. 
D) Nonviolent campaigns succeed because of their ability to be flexible in difficult times.

40. According to paragraph II, nonviolent campaigns are characterized by all of the following EXCEPT ----.
A) high rates of participation
B) an openness to accepting people who changed their minds
C) a need to give shelter to people who disagree with the government
D) a lower personal cost for the people who participate in them 

41. The word them in paragraph II refers to ----.
A) harsh treatments
B) nonviolent campaigns
C) sides
D) people in power

42. The word advocate in paragraph III could best be replaced by ----.
A) define
B) research
C) resist
D) support

43. In paragraph III, the author mentions the example of Franz Jagerstatter in order to show ----.
A) how a non-violent action may eventually lead to positive results 
B) how quickly people who make a sacrifice are forgotten
C) that the United States was wrong to get involved in the Vietnam War
D) that fighting against an authoritarian regime may cost a person his/her life

44. When the author mentions both of these aspects in paragraph IV, he refers to ----.
A) war and peace
B) shelter and safety
C) violence and nonviolence
D) effectiveness and fruitfulness

45. According to the article, it is TRUE that ----.
A) only nonviolent campaigns have been successful since the year 2000
B) after reading In Solitary Witness, some people would not fight in the Vietnam War
C) the book Lest Innocent Blood Be Shed had positive effects decades after it was published
D) sociologists have already shown how effective nonviolent campaigns are and how such campaigns can be encouraged
11
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